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If a container contains the mixture of milk and water in the ratio 4:1. if 80 liter mixture

is taken out and replaced with 80 liter water then the ratio between milk and water

become 12:13. Then find the initial quantity of mixture?

g Th el H g AR Urelr o1 fHHOT 4: 1 P U A ¥ RS 80 ofeX fAH#OT fApren
ST & 3R 80 offe Ul & deel f&am Sidr & dl g¥ 3R Urel & &ie &l 37eurd 12:13 &
ST &1 ar s 1 URiAe AEr A9 i ?

£ a0\ A.100L

/\o\':li >\ B.200L
C.235L
D.132




If a container contains the mixture of milk and water in the ratio 4:1. if 40 liter mixture
is taken out and replaced with 40 liter water then the ratio between milk and water

become 2:3. Then find the initial quantity of mixture?

g Ueh Hea H gy R Ul &1 FH0T 4: 1 F HguId H Tl IfG 40 e AT Aepren
ST & 3R 40 ofleX Ul & deof f&ar Sirdr & af g9 3R urel & i &1 31gurd 2: 3 &
ST &1 dr @S &1 i A g e

C.200L
D.100L




If a container contains the mixture of milk and water in the ratio 2:1. if 60 liter mixture
is taken out and replaced with 30 liter water then the ratio between milk and water

become 1:1. Then find the initial quantity of mixture?

g Th el H g R Urelr r fHHOT 2: 1 P U A ¥l IS 60 e fAHSOT fApren
ST & 3R 30 fleX urell & deel fear Sirdr & @ g9 3R urell & i o1 31equrd 1: 1 & Sl
¢l ar fasor & uRide AEr Ad Hried?




If a container contains the mixture of milk and water in the ratio 5:1. if 22 liter mixture
is taken out and replaced with 12 liter water then the ratio between milk and water

become 3:1. Then find the initial quantity of mixture?

g Th ek H g R Uit o fHHOT 5: 1 & Igurd H B ARG 22 e fHzor Aepren
ST & 3R 12 e Ulell § deo e Srar & df g 3R urell & i &1 31eure 3: 1 & Sl
¢l ar fAsor fr uRfAe AT g Hricd 2




Two trains running in opposite direction, crosses a man who is standing at platform in
27 seconds and 17 seconds and crosses each other in 23 seconds. What is the ratio of

their speed?

faudia feer & I W @Y ¢ Tlewd W WS T Afh Bl 27 s 3R 17 Adhs & uR
Pl & 3R Th-g@ Bl 23 Abhs A UR Il & Sl I I 3eIATd T &2

L7 2N\ A.2:3
(it \\ ;
vV Bsa
C.3:2
D.7:9




If a container contain 80 liter milk. If 20 liter milk is taken out replaced with 20 liter of
water. If this process is repeated two times more then find the remaining milk in the

mixture?

gfe Th ek H 80 ofle g« ¥l Il 20 oficy gy APrel STl § dl 38h TAT W 20 X
arell 37T ©1 IS 38 ufehar Y & AT H¥b SeAT ST & o fRHr # A gy A d
HhIe?




A container contains some milk. If 60 liter of milk is taken out and replaced with water.
If this process is repeated three times more then the ratio of milk and water become

16:609. then find the initial quantity of milk?

Teh heaX H UIST g4 &1 I 60 ofiex gU AP 538G FUE WX Ul Sfell SU| I 3d
UTShaT & it IAT 3TAh ST ST & ol ¥ 3R Urel &1 3efured 16:609 & STdr &l ol
gy & gRIFS AET AT S ?

7850 -
{200
A A = AW B 3 40
C.100
D.120




A container contains some milk. If 16 liter of milk is taken out and replaced with water.
If this process is repeated three times more then the ratio of milk and water become

16:65. then find the initial quantity of milk?

Ueh headl H IS g¥ &l Il 16 ofleX qY fAPIR 3Hd T W U=l f6am S| Ifg 58
Tfshar &l ol AT 3H{™H SIAT AT & d §Y 3 UreAT &l 3HJured 16:65 & Sl &1 al §u
& URIAE A= Jra HiiFA?




A vessel contains 20 liters of pure milk. If 4 liters milk is taken out and replaced by 4

liter of water and if this process is repeated for 2 times more then find the ratio of milk

and water ?

umqédﬁzoahwagagv%.uﬁ4sﬁaqﬂﬁaﬂmm%3ﬂ1mﬁszmu?4aﬂa
U=t 31T & 3R afe | el 2 I[AT 3 IR ST STl & ol g9 3R urell &
HAUTd ST HITTA?

120 ) B.79:81
S 270 106364
D.64:45

E.NOT




12.5% of the solution containing milk and water in the ratio 24:25 is removed and

replaced with water. Find the ratio of milk and water in the solution if the operation is

done a total of three times?

24:25 & 3IUTd H g AR Ul drel ©iel P1 12.5% fAebrer &am S1am & 3 urelr ¥ age
feam Sar &1 I AR $oT T IR a1 S1am & o g # g 3R Ul & 31gurd +Td
HIoa?

\7/ - \\-/ A.21:43
/—f\o@/\ B.43:23
C.54:11
D.46:13




A vessel contains 30 liters of milk and 6 liters of water. If 6 liters of this mixture is taken

out and replaced by 6 liters of water and this process is repeated 2 times more then find

the ratio of milk and water ?

Uh daed & 30 ofiet ¥ 3R 6 oflex Ul &. afe =g sor & O 6 oficy Aorem mar € 3R
6 ey urell § ufae fepdT ST & 3MX 38 UhAT &l 2 I[AT Hi¥eh ST STl & dl ¥
3R Uredr &1 31urd | HIfSY |

775 A.651:625

(RE ) B.625:646
C.625:671
D.625:312
E.NOT




A vessel contains 20 liters of mixture of milk and water. If 4 liters of this mixture is @\
taken and replaced by 4 liters of water and it were repeated for 2 more times then the
ratio of milk and water will be 48:77. How many liters of water was initial there ?

Ueh Tcid A qY 3 Ul &1 20 ofie f@%or &, I 59 @07 &1 4 offeX foran Jrar & 3R 4
offeX Urell & UfaedTiud fham STar & 3R 38 2 gR 3R S Sar & dr gy 3R arell &
HIUTT 48:77 BIM| del fhda offey r=r ar?

%€V 1) B.10
C.4
D.15

E.NOT



In a vessel, there is 25 liters of milk and 5 liters of water. 20% of this mixture is replaced
is replaced with water. Then 5 liters of this mixture is replaced with water. Find the

ratio of milk and water ?

Uh dcdel H 25 offed g¥ 3R 5 offleT Ul &1 37 A0 & 20% @ Urell & dgel fam e &
Y 5| TAHUT & 5 ol &l Uil § agel a1 SIdr &1 gy 3R Urell &1 37egurd i1 Hhiferu?

V€Y ) B4
C.9:8
D.3:4




